Chapter14HW

Answer Section
SHORT ANSWER

1.
ANS:


Average revenue is total revenue divided by the quantity of output. Marginal revenue is the change in total revenue from the sale of each additional unit of output. Marginal revenue is used to determine the profit-maximizing level of production, and average revenue is used to help determine the level of profits.  Note that for all firms, price equals average revenue because AR=(PxQ)/Q=P.  But only for a firm operating in a perfectly competitive industry does price also equal marginal revenue.

2.
ANS:


The firm could not sell any more of its product at a lower price than it could sell at the market price. As a result, it would needlessly forgo revenue if it set a price below the market price. If the firm set a higher price, it would not sell anything at all because a competitive market has many sellers who would supply the product at the market price.

3.
ANS:


In a competitive market where firms are earning economic profits, new firms will have an incentive to enter the market. This entry will expand the number of firms, increase the quantity of the good supplied, and drive down prices and profits.  Entry will cease once firms are producing the output level where price equals the minimum of the average total cost curve, meaning that each firm earns zero economic profits in the long run.
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4.
ANS:


$2,500; firms are likely to enter this market since existing firms are earning economic profits.
